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AOHQ��5HSXEOLND� 0DNHGRQLMD� VH� ]DGROCXYD� NDM� %DQNDWD� ]D� UD]YRM� SUL� 6RYHWRW� QD�(YURSD� VR� ]DHP� � YR� L]QRV� RG� ��� PLOLRQL� HYUD�� ]D� �ILQDQVLUDZH� QD� � �3URHNWRW� ]D�L]JUDGED�QD�VWDQRYL��NRL�`H�VH�L]GDYDDW�QD��OLFDWD��VR�QLVNL�SULKRGL��
AOHQ��6R� VUHGVWYDWD� RG� ]DHPRW� `H� VH� UHDOL]LUD� GHO� RG�3URJUDPDWD� QD�9ODGDWD� QD�5HSXEOLND�0DNHGRQLMD�]D�L]JUDGED�QD���������VRFLMDOQL�VWDQRYL��NRL�`H��L]GDYDDW�QD�OLFDWD�VR�QLVNL�SULKRGL�L�PODGLWH�EUD�QL�SDURYL�5DVSUHGHOEDWD� QD� VWDQRYLWH� RG� aOHQ� �� QD� RYRM� ]DNRQ�� `H� MD� YU^L� NRPLVLMDWD�IRUPLUDQD�RG�VWUDQD�QD�9ODGDWD�QD�5HSXEOLND�0DNHGRQLMD��SRG�XVORYL�L�NULWHULXPL�NRL�`H�JL�XWYUGL�9ODGDWD�QD�5HSXEOLND�0DNHGRQLMD�VR�SRVHEHQ�SURSLV�
AOHQ��8VORYLWH�L�QD�LQRW�QD�NRULVWHZH�QD�VUHGVWYDWD�RG�]DHPRW�RG�aOHQ����RG�RYRM�]DNRQ�� VH� XWYUGXYDDW� � VR� GRJRYRU� ]D� ]DHP� SR� 3URHNWRW� ]D� L]JUDGED� QD� VRFLMDOQL�VWDQRYL� �NRL `H�VH�L]GDYDDW�QD��OLFDWD��VR�QLVNL�SULKRGL��^WR�`H�VH�VNOX�L�SRPH_X�5HSXEOLND�0DNHGRQLMD�L�%DQNDWD�]D�UD]YRM�SUL�6RYHWRW�QD�(YURSD�9R�LPH�QD�5HSXEOLND�0DNHGRQLMD��GRJRYRURW�]D�]DHP�RG�VWDY���RG�RYRM�aOHQ��`H�JR� SRWSL^H� PLQLVWHURW� ]D� ILQDQVLL� �� LOL� GUXJR OLFH� RYODVWHQR� RG� VWUDQD� QD�9ODGDWD�QD�5HSXEOLND�0DNHGRQLMD�
AOHQ��5RNRW� QD� RWSODWD� QD� � ]DHPRW� RG� aOHQ� �� RG� RYRM� ]DNRQ� H� ��� JRGLQL�� YR� NRM� H�YNOXaHQ�L��JUHMV�SHULRG�RG����JRGLQL�.DPDWQDWD�VWDSND��`H�VH�XWYUGXYD��QD�GHQRW�QD�SRYOHNXYDZHWR��QD�VUHGVWYDWDRG� ]DHPRW�� YR� ]DYLVQRVW� RG� WRD� NRMD� NDPDWQD� VWDSND� H� SRSRYROQD� ]D� 5HSXEOLND�0DNHGRQLMD��ILNVQD�LOL�SURPHQOLYD��



AOHQ��3URHNWRW� `H� JR� UHDOL]LUD� 0LQLVWHUVWYRWR� ]D� XUEDQL]DP� L� JUDGHCQL^WYR�SUHNX� -DYQRWR� SUHWSULMDWLH� ]D� VWRSDQLVXYDZH� VR� VWDQEHQ� L� GHORYHQ� � SURVWRU� L�0LQLVWHUVWYRWR�]D�WUXG�L�VRFLMDOQD�SROLWLND�
AOHQ��5HSXEOLND� 0DNHGRQLMD� ]DHPRW� `H� JR� RWSOD`D� RG� %X[HWRW� QD� 5HSXEOLND�0DNHGRQLMD�
AOHQ��2YRM�]DNRQ��YOHJXYD�YR�VLOD��VR�GHQRW�QD��REMDYXYDZHWR��YR��6OXCEHQ�YHVQLN�QD�5HSXEOLND�0DNHGRQLMD��
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